SN GRS
B BYS NV (LUIBHI/LBHT)

&l ot s 2el (ctel: &
= Rz . Ctol (5 AL . HA 2 OH &EIE -
otY = 439,576 422,672 16,904
S S AMHPHI(LPS A /LB ) 329, 146 321,355 7,791
otY= el 127,146 119,355 7,791

A2l 7,720 3,510 4,210
201 B2 HH| 7,720 3,510 4,210

02 2324l 7,720 3,510 4,210

Oxgsid ¥ IHEA22FH

2,000,000& = 1CH 2,000
Od=2els Al 1,500,000& * 14 1,500
OdLrg Dl 2 983 ZHIRXE=H|

300,000& * 10& 3,000
Odtx HAZHl 1,2703 = 8AIZ2E » 120 + 104 1,220

gAsF 2 4,211 4,030 181
101 eI24d| 1,832 1,750 82
4 JI12HHZ22NSESs 1,832 1,750 82

OotY = otAHLHeIR 36,6403 « 19 * 50 1,832
206 = Hl 2,379 2,280 9
01 MHZ I 2,379 2,280 99
OL == 1,860& * 200 4 372
o& = 1,690& * 300 £ 507
O= AR 2,500& = 600 £ 1,500

2ots |2k 5,480 5,480 0
201 LBr2gH| 5,480 5,480 0
02 E=2gHl 5,480 5,480 0

O=2ets el 50,000& * 2745 * 40/100 5,480

ZEZ33 ALY 8,475 8,825 A 350
101 214 d| 7,770 7,420 350
04 JIZtH22 S E+ 7,770 7,420 350

OE=zH & HYSHID URUS
36,6403 * 2 * 7& * 33 1,539
ORYE +22 ZEZHIM ooy
36,6403 » 1 » 53] » 128 2,199
O=Z&E3&s o2y 36,640 * 10 = 33l 1,100
OAIJIX 2D 23Y| 212
36,6402 « 1H = 303 1,100
Osgdael & NHHEs &=
36,640 * 1H = 503l 1,832
206 =l 705 705 0
01 HZ I 705 705 0
OESoHgH M 2 10,0002 * 105 100
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A oS
HH: olUES A ZH (LB /ABAH)
el StY s 2el (ctel: &
_ _ _ SN E N
A -3 -H2A(SH) - HEAMY - BES Of] AF R Om;g; Hos
OJ3YZ ==& §Hl 7
3,000& * 23| * 30X 180
Ootlg 7¢ 15,0008 * 23| * 10% 300
OJIEt HEEF 5 75,0008 * 585 » 53l 125
FOIXX D18t 5t 101,260 97,510 3,750
301 LetE A2 96,260 96,260 0
bES-c2l-tEeEsEas 91,580 91,580 0
Os&+¢ 85,280
—Jla=g 200,000& * 26 * 123 62,400
—&0=3 200,000 * 26% * 200% 10,400
-3l A
20,0004 * 269 * 23| » 12& 12,480
Oopra+¢ 50,000& * 126Y 6,300
10 HALAHIE &2 4,680 4,680 0
OXNSgdEgosls aIAFAT SAH|
5,000& = 78 » 123 4,680
405 RHebE S HI 5,000 500 4,500
01 At 2 EFH S| 5,000 500 4,500
OgfNas &g g
5,000,000 * 14 5,000
282 FEIHAANS 202,000 202,000 0
22 FEEHA ALY 202,000 202,000 0
401 Al HIZL 2 0HYHI 202,000 202,000 0
01 Al &l 200,000 200,000 0
OARE FAUHAAIS 200,000,000 * 14 200,000
03 Al& =01 2,000 2,000 0
OL7R =QHAAIG AIELR0HYI
200,000,000& * 1/100 2,000
HY2A G (ot S)(IIEH/IIE 110,430 101,317 9,113
ol 2| 31,408 28,993 2,415
ol 2| 31,408 28,993 2,415
101 214 d| 31,408 28,993 2,415
01 24 31,408 28,993 2,415
OAlztel 224
8,0783 » 9H » 36AlIZt » 123 31,408
Jl23dl 79,022 72,324 6,698
Jl2Z | 79,022 72,324 6,698
201 LA 34,112 30,414 3,698
01 At 2teltl 23,044 21,854 1,190
OSsALEX 2| 1,404
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SA: SIS
M HY2FZHI(StLS)(OIEHIIE)
el JlE&3sl (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
—SAEX 2ZA 13,0008 * 92 A x 12 1,404
OE20AHl 5,000& = 34 x 9& » 128 1,620
Oogtt =2 100,000& * 12 1,200
Oaxnl2 EA-7Y 50,000& » 12& 600
Oogd=dg 13,300
—=2 30,000& * 18 = 250€ 7,500
—2X 50,000& » 1& » 116¥ 5,800
Oanl2 =4l 4,380
— =AM =2 500,000& = 1CH 500
—Z2lH =2 100,000& = 2CH = 50/100 100
—SAI EUH 200,000& = 53| = 1CH 1,000
—T2ly S &4 200,000 * 23 « 504 2,000
—PC==cl 100,000& = 9CH * 20/100 180
—JIEt ==2clH| 50,000& » 123 600
OJIEH AtR2teltl 5,000& * 9& = 123 540
02 Z33&4H 11,068 8,560 2,508
O=MgE2E=E 150,000& = 123 1,800
(OFSIPIPNZ=J=3 600,000& = 12& 7,200
Oddt=r 2= 80,000& » 123 960
ORdedsEs 2= 9,000& = 128 108
O RE= 50,000& * 23 100
OHJItEAMNEE 100,000& = 23| 200
OZstxd A 100,000& = 13 100
Olblzst 8JIR=s 50,000& » 12& 600
202 044l 30,150 30,150 0
01 2K 3,150 3,150 0
Ootds AA g2 =U ol
70,0002 » 9H » 5 3,150
02 EH0{HI 27,000 27,000 0
Ostds AE R0
250,000 * 9% » 12& 27,000
203 B R =2 9,960 9,960 0
01 J|22d 24| 6,600 6,600 0
Os&d JI22dEYR=2adl 6,600,0008  1& 6,600
02 2= 360 360 0
OFJIIAHRFHI 40,0008 » 9F 360
04 EA2E LR 3,000 3,000 0
ORAN2EHR2F2a| 250,000 = 128 3,000
204 MR A Y| 1,800 1,800 0
01 Mg AP H 1,800 1,800 0
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